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éa. Kathy and Mia have bought sweets

for a party.
Kathy says,
1 bought more because |
have 10 lots of 24 sweets.
b 4 000000000000
Mia says, e®ee00 ee
I bough! more because |
have 24 lots of 10 sweets. Q
ee00

Who has bougm the mosl? Prove it.

6b. Juan and Ben have bought marbles to
play a game.

Juan says,

Ben says,

1 bough! more because |
have 63 lots of 10 marbles.
. 66
Who has bought the most? Prove it.

1 bougM more because |
Imve 10 lots of 36 marbles.
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8a. Ava buys 27 pack of pencils. There
are 10 pencils in a pack.

She needs 2,630 pencils for her classes.
Ava buys 210 more packs.

Does Ava have enough pencils for her
classes?

Explain how you know.
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8b. Che buys 35 pack of nails. There are
10 nails in a pack.

It takes 7,120 nails to build his project.
He buys 687 more packs.

Does Che have enough nails to build his
project?

Explain how you know.
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9a. David and Ken have each bought

some football stickers.
David says,
1 bought more because |
Q have 10 lofs of 256 stickers.
Ken says,

| bought more because |
have 265 lots of 10 stickers.

Who has bought the most? Prove it.

9b. Olivia and Sue have been reading

their books.
Olivia says,
I've read more because I've
@ read 10 lots of 123 pages.
Sue says,

I've read more because I've
read 123 lots of 10 pages.

Who has read the most? Prove it.





